DD TMVRI0T YR ORI X1 noon MIA AT TINHH My e

542
40a (ywn nx 25vp 19 v71) >41b (817 57 DN)Y)

2,087 DT PYYD IR 2P0 N2MN DR TN YR NRY YTPN NR 9990 19
v, 8777 TIRVN NP N2 570 V7Y NZY TUR VYYD DR 1R 2pm
2477 :I0Y 1050 72 71921 TIRVTZ TN NP7 TN N3P 233 3Y IR DN MY ANRZ) 1Y 7T AT RYDN KD DY

1,0 4777 32NN N 9% 105D YFY 1921 NP TORM NRYN TR 1050 DNR NYM
2,7 4777110970 YR RN N0 092 y1¥nD MR 100 Rt

L Continuation of assessment of indispensability of nnin/nYn (according to N’ ')
a.  Challenge: to position that even nT1 "1 agrees that Ny is indispensable:
i. Rule: 79 is 20pn the 1yw; (that if he performed the 9’»wn o7 Minn first, he’s done nothing)
ii. But: vyw is not 20yn the 18
1. Interpretaionl: if he did 790 07 ninn in the Y30 before 1'yw BT Ninn inside not 25yn
a.  Rejection: re: inside nTay, nT "1 agrees that the sequence is 20yn ("npn”)
2. Interpretation2: if he did the 190 07 mann before nY1n — not 23¥n >nY N isn’t 20¥n
3. Interpretation3: if he did 7190 07 ninn outside before 1w 0T Mnn inside, not 25yn
a. 7y "1 anything done 125 *11 outside is dispensable
i. Challenge: that ruling states “n»92w nunn”
b.  Rather (interpretation2): authored by ™, for whom n%1n is not 23yn
c.  Alternate to int2: authored by »™; though sequence not 23yn, n%n is 20¥n
I Reassessing the dispute between m'nan/w™ re: "1 as indispensable
a. 77 nonwnn 1YY must be alive until o7 of internal Yw is performed (n793=0'n7T) 31711 is not 20Yn
b. @71 says nonwnn 1YW must be alive until » 11 (7193=07127) D171 is 20¥n
I Revisiting the indispensability of the 9 (slightly misordered text — see pynw "1 n"1w7)
a. y”r was asked if the 103 can switch mYm (R->L)
i. Answer: due to claims of early Christians (or dualists — text was censored), disallowed
1. implication: 53 is not 23yn (otherwise, it would be essentially disallowed)
ii. rejection (837): question was about crossing hands but not violating n%an
b.  xr7713 without n%y (v2) — X"0 it must be placed on the animal X1122p%
i. /5y only nYn is 20yn (not being placed on animal)
ii. Rejection (X¥37): straw-man was X”10 the Y11 would have to remain on its head until no'nw
C. (K790) Kr7722. IRON NVM (V. 2) — the Y13 generates the designation, not the declaration
i. a”7p. via1'p the oral declaration would be able to determine the assignment, without n>7n
ii. Therefore: nkoN MW > the Y1 creates the nxon
iii. Default author of 81901is 77777 7. therefore — even »™ agrees that the Y is 20yn - QED
Iv. Reexamining power of 571 to determine w1pn — (III ¢ above)
a. Premise: pyp only become determined at purchase (v. 3) or performance by jn2 (v. 4)
b.  Challenge: v"p to support ®"n that oral declaration would trump 97 -w/o purchase or performance
i. Answer: complex 1"p including purchase/performance (if ow works at time of p/p but not Y m...
c.  Challenge: »» who designated his money for a jp cannot redistribute the moneys (if he became 1wy)
i. Therefore: designation applies, even before purchase
ii. Answer: he must have assigned at time of designation of moneys (::purchase)
1. wwar 715 (o is 1Y 1271 R¥Y) — must have said it at time of purchase
a. If so: he must redeem animal — but no redemption for birds (21 127p)
2. Rather: means that if the bird was an n%, he adds to the n"%w-fund; but not w/nxron
a. A5 2>nam (NRon->nnn)
V. Revisiting dispute mwR> "1/mywIR ' re: 1Y 1179 RNV PYY — RY?
a.  Challenge: to (%) PWR’ "1 PYY YN¥n that brought 71y 129p — not Rx¥y
b. Answer: yn¥n is different — states nrt (v. 5)
i.  Challenge: should be inverse too (17w 127p ®2anw 7Y) — but he is Rxy
ii. Answer: re: that case, " n extends via nn (1 rule for all py1ixn)
1. Cannot be: extended to 2y 1279 Ranw vy due to RN H7 ORY
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